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Multiple Choice

Q.No: 1]2 617]8]9]10
{a,b,c,d} |bla|c|d|b|blal|lb|c]|a

W
(@)

1 lim (e” + x)% is equal to:
r—00

(a) €? (b) e (c) 1 (d) oo

3

2 The partial fraction decomposition of takes the form:

z— 1)

(a) v+ -2 + 2L (b)ﬁ—k(ggif (c):r+(x_%)2 (d)ﬁ—k%

3 To evaluate the integral dx, we use the substitution:

[7=

(a) x =3tanf  (b) 0 = 3sinx (¢) ©=3sind (d) v = 3secl

s

4 The value of the integral /  sin® (3z) cos® (3z) dx is equal to:
0
(a) 1 (b) () (d) 0

1

w3y
INJE]

5 The substitution u = tan (%) transforms the integral / -
1+sinx +cosz

into:

(a)/lf%du (b) Fludu (c) /ﬁdu (d) /mdu

secx

————dx, we use the substitution:
cot® ()

6 To evaluate the integral /

(@) u=tanx (b)u=secx (¢)u=cotx (d)u=sinx

1
1

7 The improper integral / —-dx converges if
0T

(a) a <t b)) a=1 ()t <a<? (d) a >

N

8 The value of the integral / dx is equal to:

1
Va2 4 2x + 2
(a) sinh ™' (z —1)+¢  (b) sinh ' (x+1)+c (¢)sint(z+1)+ec
(d) sin™' (z — 1) +¢



Q. No: 9 The improper integral / ze " dx
0

(a) diverges (b) converges to 1 (c) converges to 3  (d) converges to — 1

Q. No: 10 The value of the integral / sec* rtan? zdz is equal to:
(a) 3tan®z+ ftan®z +c (b) stan®z —itan®z +c
(¢) Sttan®z 4 % tan® z + ¢ (d) FFtand®z — ftan®x + ¢
Full Questions

1 1
Question No: 11 Evaluate / L(nx)dx 3]
x

Solution:

Letu:lnxédu:ldx
T

/Sm_l#dx = /sinl (u) du

=usin tu+ V1 —uZ+c (By Integration by parts)
= (Inz)sin~! (Inz) + /1 — (Inz)* + ¢

uestion No: 12 Evaluate
Q@ / v/ 1+ 902

Solution:
Let x = tan @ = dx = sec? #df

Vi+a22 1

T T

1
/md:ﬁ: /csc@d@ =In|cscl — cot O|+c =In




Question No: 13 Evaluate / *
x

Solution:

v 3 -2 2, 41
d _ 3 d 3 3 d
/903—136 /x—1x+/x2+x+1x

= Fnfz —1[+jlnfa® + 2+ 1] + Jtan™ (% (x+%)>

Question No: 14 Let R be the region bounded by the graphs of y = 1+ /x, y = 3 — =z,
x—axis and y—axis. Sketch the region R and set up (Do not evaluate)
an integral that can be used to find its area. 2]

Solution:

y=1l+rzandy=3—2z

A:/Ol(1+ﬁ)dx+/13(3—x)dx



